(0 @) (rad)

Ratio

Ratio

Ratio

=
<

SICEWATL

s f 5 :
g | : :
0 107'F }L ------------ P
] o T H H
107 C : :
oo
E e ! :
- [ e LS 4
10°° i . : T
I e S
10°° S '-‘ : 'i»'*i """"""""
107 P11t
1.z
1.1
1
0.9 = 5 3
10 1 TPlpOT (PCA t%obeamliné[f)
—=— DQM_mKFit_TT_base_noSel
—e— DQM_mKFit_TT_base_8iter_noSel
—— DQM_mKFit_TT_retrainOldFiles_v2_8iter2_noSel
£
S
gN
.................................... °
10 ©
1072
10°°
Vst b1
i 16 62 ? ‘10 1 10 62 ?
TPp, (PCA tlo beamling'f) TPp, (PCA t]b beamling'f)

o p/p.)

H
S




	Contents
	Page 1


